
P

# f(0) = - 3
, f(y) = - 5 ,

f(z) = - 5
,

f(a+z) = - (a+2) + (a+2) - 3

=- - 3a - 5 ,

Do (1) Y = 10x (osk(

(2)Y = (50x)x(0995)

(3)y = G(()

Jax func.. F,* func.No

Bo (1)B

(a) BE

# Y

-
It - 3[YSM



Bo (7) Max : 6
=> 1 . F. Max , # ·TEE Min

Min : +jl
e

(2) Max : +JL

Min : - 2

Ax .: Y

P
.
P.: (0 ,

-3)

60 (1)

Feb
F,Ex .

TP
.
P.5

· AX .: x = - 3

P
.
P.: ( - 3

,
0)

(3)

Ax : x = - 3· P. P.: (-3 , 1)

y =

- (x+3)+ 1



Do (7) 2x - 8x + 1

= 2(x -2) -7

(2) + x + 3

= (x - 1) + 5

(3) x + 3x - 2

= ( +3- -

= (x +)-

(4) - 2x + 6x - 1

= -2(
=
- 2(-2 + 7



80(1)y = 2x + 8 - 1

= 2(x +2) - 9

y
y =2 + 8x - 1

FAP.
P.: (-2 ,

-9)

(2)y = -E - x

= - (x + . ) + t

AX .: x = - 1

* P
. P: (1st)

(3)y = (x +2)(2x - 1)

= 2x + 3x - 2

3
= 2(x +2)- - 2

AX .: ( = -

P
. P:(

To



90 (2) (5 , 2)
,
(1 , 8)

(2) ( - 1 ,
-7) , ( - 5

. -1)

10()y = 3(x -2) + 3

(2) i
.
St : + 1,l = + 2

ii. y = 3 + x - 1

= 3+
1 = + 5 ,

=-
x,

* Ey 1 : +S

RIO CE : (4 .3) . JE : (4 , -3), : (4 ,3)

#Ro (7) y = x - 2x + 3

= (x - 1(2+ 2

Max:L

Min : 2

(2)y =2x - 4x + 5

=
- 2(x + 11 + 7

Max : 7

Min :th /



1Bo (1) y = (3 + 4x - z(0x = 4)

= - (x -2( +2) + )

Max : Z

Min : -2 /

(2) y =3+ 0x - 5) - 1x32)
=

- 3(x -1 - 2) " (

Max : - Z

Min : -14

#Do (7) % = - 2x2 - 4x + 1( -22xx)

= - 2(x + 1)+3) , )

Max : 3

Min :JL/

(2) y = x - 2x + 2 (1xx)

= (x -1)+ 1

Max :
+&S

Min :1



#Bo (1) y = x - 4x + a(1[x = 5)

= (x -2) + a -4) + )

: 6 = 25 - 20 + a

a = 1
/

(2) y = x - 4x

= (x- 2)2 - 4

y = -x
- 4x + a

=

- (x +2) + a + 4

: a = - 8,

160

(1
= - 3 + a + 1

- 8 = - 12 + 2a+ h

a + h = 4

I 2a+ h = 4

sath=

E



Mo ortna 1 : 25e

y = a(x - 2) - 4

(0 ,4) zn2"

4 = 49 - 4

a = 2

: y = 2(x -2)2- 4
,

18 (2) ota1 : It L2 ,

y = a(x + 1)2+ 3

(1 . 7) Ene

7 = 49 + 3

a = 1

.. y = (x + 1) + 31



I (2) eta , Ehl : LILC,

y = a(x +2)+ l

Z (0 . 3) , (1 ,d)ze" ,

o = a + h

I
3 = 4a +h

c = a + l[3
= 3a

Ca
i. = (x +2) - 11



↓ Ro a - h + 5 = 1

I 39 + 7h - c = 8 - + = 9- 1 = 8
2a - 4h +5) = -3

& 17 !

- 1 - 6 +5 = - zok !
a -h + 3C = 1

& 10h-109 = 5

-24 - c = -4

a - h + 3c = 1[2a-x = 1

- 32 = - 3

I
a - 3 + 3 = 1 -
l = =
C = 1 1 - 3 = -

a - t

I
=

u=

C = 14



RO. a
, b , C (Ecato) 1:+C2,

1 = a -l + C

I -5 = a +1 + C

1 = 2 + 3 -40 !

5 = 99 + 3h + C

1 = a - h + c

- 6 = 2hI
↑ =xa+

1 = a +3 + C

S u = -3

1 = 2a - 3

Ie
a = 2

i . y = 25 - 3x -41



R1(7)s = 13

(2) 52 -7x -6 = 0

(5x+3)(x - 2) = 0

:. ( = - 2

(3)(x) -2(2 - 3 = 0

x - 2 = 15

x = 215 /

(4)( - 5x + 3 = c

=

(5) - 5x2 + 4x + 2 = 0

=
(6) 2x +45x + 10 = 0

=te
=- ,



&& . (7) Ex - 4x-2 = e

= (a + fa = a+h +2

-
(8)2(x + , Y = ( +2)(x + 3)

j
- x + 4 = 0

=

(9) 2( +2)
=

- (x +2) - 3 = 0

(2(x)+2) - 33(( +2) + 13 = 0

(2x + 1)(x + 3) = 0

: x = - 3 , -ti

40 0
.

25
- 0 .5 - 1 .

2 = 0

25 - 5x - 12 = 0

(2x + 3)(x -4) = 0

x = 3
,
4



Ro (11) 1 = o

2x - 15x + 6 = 0

158 + 25 + 2

= 177

t

Ro Es1743534 ,

x - 1 = 3(k+ 1)
E

- 2 = f- 4

ga3k
-1

a = 3k + 4

(k(k+3) = 0

54t



RBo /F,/B11 ED -G5 e

(1)D = 25 - 4 > &

.. 21
,

(2) D = 9 -200

: R +1)
,

(3)D = 36 - 36 = 0

: 17

24 36 - 4(2a - 1) > &

9 - (2a -1) e

-2a + 10 >0

a - 54 0

a < 5
1



RBo(k+ ) - 16 = 0

k - 1 = 4

k = - 3
, 5

f = -32"

4x - 4x + 1 = 0

(2x -1 = 0

x = t

k =5z"

4x + 4 + 1 = 0

(2x + 1) 2 = 0

x = -

: k =32x = 2
,
k = 52x = -E



R$ n1:+ 12 ,

(n- 15 + n
=

+ (n +1) = +B

322
= 75

n = 15

↓h = tiS

4
, 5 .6

DDo (1) (-1 . 0)
,
(5 .0 s

(2) y = -2x+ 5x - 1

=
-5

:( .(d)

(3)d = 4x2 - 20x + 25 e
= P(x-)

: ( , 0)



280(1) D = 4 - 4 = 0

: 11

(2) A = 1 + 4. 12 > e

:. 27

(3) J = 4 - 10

· Ity

R909-8 ( -2k + 1) = 0

16k + 1 = 0

: k = -to

BDo m2 - 4(m + 3) = 0

m = Gay,

m - 4m - 12 = 0

(m - 6)(m + 2) = a/
y =
c + 0x + 9

(C = - 3

M =

-2 nXE ,

.. m = - 22 (l , 0)

y = x - 2x + 1 m = Gz(-3 ,0)1

x = 1



B10(1) 2x - 5 = &

=E

(2)(x + 1)(x z )ao

xc - 1 , 24x/

(3) (2x +3)(3x -4) = 0

-

(4)x
- 40

-2(421

(5)(2 - 3x + 2)0

( - 1)(x -2)

x > 1
, 2 < x

,

(6) [38 + 9x + 920

(2x +3)(x +3) = 0

Ce - 3,



B1 .
(7) Ex- x - 1 = 0 enti
=

(8) x + x = 3x +24

c
-2x -240

(x - 6)(x +4) = a

- 42x =6

(9) (x -4()8

4).27 ta The*

Clos E
,

(11) +201

(2) (C = 411

(13) q + 126x

93- 6x + 12e

9(x - +) = a

x=



B1 · (14) < -2x + 5 = 0

(x - 13 + 4 = 0

. BEIL 11

(15) ( - x -67

I 2

( -x 20

( +z)(x -3)

[ x(x - 1) = 0

~ 2 < x < 3 -

I
x(0 , 14x in
i = -210

, 12/13/



B10 (16)

55x
-352x

2) < x + 6

2x2
- 5x + 3 - 0

&2
-x - 670

9(2
-3)( - 15 - 0

(2x+ 3)(x -2) < o

I
x =S

--
Hello x- 2 - 2

in 1,
1/

BRo tik -1930

24 = x(la -x)

E
0x5 .. 42.5

I
-10 + 240 f 4cm1 = Jcm1/F

/1

0x45

↑
(x -4)(x-6) = 0

oc25



BB
. 9 - 2y

= 1

x - y = 4

It

[
BH0(1)

(2) - 1 +7

(3) 5 - 122

350(7) 5 - 32

(2) -22

B
1



Blo 223=to

=

(2)x = 2=

= 2 = 22

(3)x- 1=
x = 1+

-K

(4)
32+ 3 = 2) - 2

3 -2x + 5 = 0

F
=



B8 D = 9 + 410

...32 E ,

B90( = a - 2)-a+3) at-e ,
Ea2 A

= 3 -
6

a=

= a - 2
-rate,

40
· (m-15 - 16 = 0

i. m = 114

m = -3d4
,

4x - 4x + 1 = 0

(2x - 1) = 0

: x = z
,

m =5nxE
,

43 + 4x + 1 = 0

(2x + 1) = 0

... x = -

im=32x = E
,
m =52x = -2



#10 x - x -m(x + 1) + 7 = 0

c - (m +1(x + 7 -m = 0

(M + 1 32- 4(D-m) &

m + 0m -270

(m + 9) (m -3)

-9(m/3

KRo(7) : -3. Z

(2) *: -↑*

(3) :- E

#Ba + 3 = 1 , 23 = t

()aB +29

= ab(a +3)

=,



#Bo (2) (2-g) = (a + 3) - 448

-

- 1
,

(3)(( +d)(1 + B)

= 1 + d+ B + 2B

= 1 + 1 + t

=

#No 1)E22GB ,

52 = 10

S 692 = m

[4
: LYCERI 4 ,

6 , M =24

#50 x+ 2x + 5
x = - 1 F5

= (x+ 1 -22)(x + 1 +22)
, =- 1 +z



400(7) - 5 = (9 -4) = E

(5) =
- 1

: 68 - 5x - 6 = 01

(2)(8 - 4x + 13 = 0

#Do G C05-14 = o

(x -7)(x + 2) = 0

x = 7
,

-2 i Ma-2a

(2)(5 - 4x - 1 = 0

x = 21 π

i . 2 -5 x2 +F ,



4)80()(E - x - Mx - 6

= (x + 1)( - 2x -5) - 1

-1

(2) 2x2 - x - 2x + 1

= (2x -1)(x- 1)

:

4)90 f(x) = < - 6x + 11x - 6

534 ,
f() =o

z ,

c2- 6 + 1x - 0 = (x- )(x-5x + 6)

= (x - 1)(x -2)(x - 3)
,



#Do (1) <2
-25 - x + 2

1 - 2 - 1 + 2

= (x +1)(x- 3x +2)
& It !

= (x +1)(x - 2)(x - 1)
,

(2) 2x3+ 9x5 + 13x + 6

- 16 + 30 - 26 + 6
= (x + 1)(2x + +x + 0)

= 20 - 20

= (x + )(ax +3)(x +2)
,

=oo !

5) f(x) = 6 + ax - 3x - 9

53
o

f(-) = 0

33

- At a
2

2 4
- 3

*
+Ma + x8- = 0

a - 9 + 2 -4 = 0

: a =1



BRo() c +7 + 10 = 0

x(c+ 7x + 10) = 0

x(x + 2)(x +5) = 0

i x = 15. - 2
, 0

,

(2) = -
8

Im

x =

- 2
,

) = 52
,

(3)x
4

- +x -36 = 0 -
(x - a)(+ 4) = a

: x = 13
,
122

,

(4)( - 7x + 6 = a

8- 14+ 6 = 0

(x - 1)(x + x
- 6) = 0 an !

(x - 1)(x - z)(x +3) = 0

: x = - 3
,

1
,2



#Do (5) xt + <3 -2 -4x - 8 = 0 16 + 8 - 8 - 8 - 8 = d

( -2)(x+3 +4x +4) = 0
- 8 + 1 - 8 +4 = 0

(x -2)(x +2)(x+ x +2) = 0

F
!12 16 -8 -

8 + 8 - 8 = 0

⑤Bo - 1 - a +2 = 0

a = 1
,

5 A 1 :

2x + ax + 3x + l

= (2- 5x + 6)(2x + -)

bis I 2 1t"Ill o

: a = 10 +1
u=

Her
. a = -

,
h=-


